7 AURTERRH

F1xk EERWUEE (B4 :ha, FF)
- =0 ]
] Ui =z x 7
TR20FEE 12.00 397,864
THR21EE 8.28 393,336
TR22FE 0.28 49,960

KEERBUERIFR22EETRTL, TR23EEUBRITHATIVELY,

Eok MHMEEMILEHRKEERER
(B B, FF)

FE & il = X =
Fri20FEE 1 25,382
TR21EE - -
TRR224E - -
FR23FE 1 -
Fri24EE 1 32,635
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(B ha, FH)

FEIR

RERUSEEERINR
&

o —— | ) [2 ¥ ]
m B ([ F£E | @B B | X8 BB | X8
TR 204 BE 633.66 | 2,308,499 1.99 605,911 2.30 417,823
T2 EE 34729 | 2318414 3.73 694,050 1.29 425216
TR 224 BE 196.99 | 1,497,320 2.38 542,507 0.94 283,939
T 235 E 21187 | 2,071,481 2.26 820,167 1.57 431,149
TR 244 B 81.86 | 2042218 4.02 915,382 2.70 759,086
B IR MBS 22.23 733,664 0.98 278,297 0.69 256,256
] 0.71 273,277 0.15 36,801 0.40 157,154
=Fii] 21.52 460,387 0.83 241,496 0.29 99,102
ERIBERWEH 4.41 95,781 - - 0.40 69,397
FE=E™ 0.19 33,805 - - 0.16 29,152
BREH - - - - - -
E=JIET - - - - - -
75 FHT - - - - - -
B AHET 415 56,732 - - 0.24 40,245
i 2 HT 0.07 5,244 - - - -
FEHET - - - - - -
BB SR E BT 3.68 792,391 2.73 558,810 0.74 187,353
KXHES 0.42 169,202 0.34 145,185 0.05 13,070
ARZEIE R 0.26 80,973 - - 0.17 65,498
ARZEHT 0.45 87,314 0.37 55,771 0.08 31,543
AMAES T 1.72 282,164 1.27 235,604 0.36 26,754
AR E )11 BT 0.83 172,738 0.75 122,250 0.08 50,488
B IR R E AT 19.05 213,345 0.31 78,275 0.31 101,191
EFIT 0.01 6,040 - - - -
mAR™ - - - - - -
S h 19.04 207,305 0.31 78,275 0.31 101,191
AN - - - - - -
TEHM - - - - - -
T A HT - - - - - -
FrRHET - - - - - -
E=rinl - - - - - -
RARFFIE B 32.49 207,037 - - 0.56 144,889
Ktk 30.45 54,267 - - _ _
Kb 0.58 128,152 - - 0.53 122,177
IEAET 1.46 24,618 - - 0.03 22,712
= AR R ET - - - - - -
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FIR—=U NSNS (B ha, TH)

HHETHf %

IR X KRR

I EER ARSI E AW

KBRS LS RS

[

EXE

[

EXE

[

EXE

TR 205

18.92

218,423

29.68

36,738

TRR21EE

8.20

189,889

0.88

224,774

0.03

18,260

T2

3.40

90,848

0.42

109,501

TRR23FE

0.31

98,275

0.42

85,345

T R4

0.05

11,633

RARRHHREBR

BB

Byt

RRIREHRREBH

FHET

B/

L=)IIHT

T FHET

BEAHT

i R HET

FEHE

RALRBE R KB

KHEET

MALRR T

ABZAET

WA T

AR )11 BT

RRIRERREBER

R FIT

WK™

g

NI

THH

FAMT

FFARHET

=il

RIRZFHEEEHR

KR

K

1B ET

= AR R ET
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FIR—=U NSNS (B ha, TH)

KRR 2 | KEORERERSER | BRI MRERIXEK

TEHE e m 22 & | @ B | EEE | B R | FEE
FR20FEE 0.13 26,604 - - 14.89 242548

FER21FE - - 0.20 27,791 28.17 180,618

ER2FEE - 247 72,252 422 58,023

FR23FE - - - - 0.06 49,849

ER4AFEE - - - - 0.08 49,039

RARRHHREBR - - - - 0.08 49,039

REEiAm™ - - - - 0.08 49,039

kil - - - - - -
REREHRAEHN - - = - n —

FHED - - - - = =

L=)IIHT - - - - - _

T H - - - - - -

BEAHT - - - - _ _

i R HET - - - - _ _

FEHE - - _ - _ _
RAREHRAE BN - - = - n —

KHEET - - - - - _

MALRR T - - - - _ _

ABZAET - - - _ _ _

WA T - - - _ _ _

AR A7) 11 HT - - - - - _
RRIRERREBER - - - - - _

R FH - - - _ _ _

WA - - - - _ _

EEH - - - - - _

INLUTR - - - - - _

THH - - - - - -

F £ fT _ . . . n -

FFARHET - - - - - _

=il - - - - _ -

RIRZFHEEEHR - - - - — _

KR - - - - - _

<o - - - - - _

1B ET - - - _ _ _

B AR RAET - } } - - -
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FIR—=U NSNS (B ha, TH)

HHETHf %

R X H &R

L

=
B

R & M

[

EXE

[

EXE

[

g B 8
EXE

TR 205

395.09

260,097

166.72

85,065

0.19

TRR21EE

156.88

142,616

144.63

94,786

T2

55.60

42,142

122.52

33,336

TRR23FE

144.24

52,994

32.13

6,006

T R4

2.36

8,897

30.71

7,306

RARRHHREBR

10.90

3,675

BB

Byt

10.90

3,675

RRIREHRREBH

3.79

628

FHET

B/

L=)IIHT

T FHET

BEAHT

i R HET

FEHE

RALRBE R KB

KHEET

MALRR T

ABZAET

WA T

AR )11 BT

RRIRERREBER

R FIT

WK™

g

NI

THH

FAMT

FFARHET

=il

RIRZFHEEEHR

KR

K

1B ET

= AR R ET
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FIR—=U NSNS (B ha, TH)

o —— BARRERS2AWL ¥ XY oLk INGT
m B ([ EXxE m & EXE | BB | 2% 7
FRL204EE 0.86 107,513 0.18 91,334 630.95 | 2,112,743
FRIERE 0.66 99,837 0.08 86,023 34475 | 2,183,860
FR225EFE 0.33 61,806 0.12 60,192 192.40 | 1,354,546
FRR23ERE 3.87 99,153 0.61 184,347 18547 | 1,827,285
245 FE 30.44 53,242 - - 70.62 | 1,837,479
BB ERREER - - - - 12.91 620,161
] - - - - 0.63 242,994
=Fii] - - - - 12.28 377,167
B R IBE R B BT - - - - 419 70,025
FE=E™ - - - - 0.16 29,152
B - - - - - -
E=)1ET - - - - - -
25 FHT - - - - - -
B AET - - - - 4.03 40,873
i E BT - - - - - -
5 EHT - - - - - -
BB SR E B - - - - 3.52 757,796
KHEEM - - - - 0.39 158,255
AERIR T - - - - 0.22 77,131
AR AT - - - - 0.45 87,314
AMAESILH - - - - 1.63 262,358
AR E )1 BT - - - - 0.83 172,738
BRI R AT - - - - 19.00 191,366
BHITH - - - - - -
mAR™ - - - - - -
=% - - - - 19.00 191,366
N - - - - - -
TEHm - - - - - -
T HEHT - - - - - -
55 AR HT - - - - - -
E=piin.l - - - - - -
RARFFIE B AT 30.44 53,242 - - 31.00 198,131
KR 30.44 53,242 - - 30.44 53,242
Kb - - - - 0.53 122,177
IEAH - - - - 0.03 22,712
= AR R AT - - - - - -
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BIR—=U NSNS (B ha, TH)

—— KEEERSCAIL | MbEREpEESRcERE B B A W
[ 8 | m ¥ | %8 | @B |[5%x%8
TRR205EE - - 1.50 25,382 1.21 170,374
ER21EE - - - - 2.54 134,554
TERR225EE - - - - 455 126,615
T 234 0.01 6,410 - - 26.39 237,786
TR 244 B 0.06 28,792 0.30 32,635 10.88 143,312
B IR MBS 0.05 20,942 0.30 32,635 8.97 59,926
] - - - - 0.08 30,283
=Fii] 0.05 20,942 0.30 32,635 8.89 29,643
ERIBERWEH - - - - 0.22 25,756
FE=E™ - - - - 0.03 4,653
BREH - - - - - -
E=JIET - - - - - -
75 FHT - - - - - -
B AHET - - - - 0.12 15,859
h B #T - - - - 0.07 5,244
FEHET - - - - - -
BB SR E BT - - - - 0.16 34,595
KXHES - - - - 0.03 10,947
AERIR T - - - - 0.04 3,842
AR ZEET - - - - - -
WA T - - - - 0.09 19,806
AR E )11 BT - - - - - -
BB RN BB 0.01 7,850 - - 0.04 14,129
EFIT - - - - 0.01 6,040
mAR™ - - - - - -
£ 0.01 7,850 - - 0.03 8,089
NI - - - - - -
TEHM - - - - - -
T 4T - - - - - -
FrRHET - - - - - -
E=rinl - - - - - -
RARFFIE B - - - - 1.49 8,906
Kk - - - - 0.01 1,025
Kb - - - - 0.05 5975
1B A HET - - - - 1.43 1,906
= AR R ET - - - - - -

59




F4xRk EAMEEHINERLTHELE

ER25%€3A31BRE

1 AL EIE (ha )| EEMHEIE (ha) ‘ﬁ "
E #m ¥ ( ha )

a3y (15,549) (7,026) (443) (8,523)

) 190,277 115,207 24,246 75,070
KEMAVERZTHK 147,809 93,283 13,190 54,526
THREBREERERT MK 41,269 21,684 9,406 19,585
TREBEEBHERETH 131 52 112 79
B B &R £ M 21 - 61 21
K EHBHEER XK 62 - 845 62
FEBH KRR MK 614 120 569 494
EREMBLERRK 2 - 7 2
B B K& £ K (70) (70) - -
B B OB OB M (15,479) (6,956) (443) (8,523)
369 68 56 301

X)) TRERRMT, BEBMERH. REFRLIHBIINBTHL. (ESKRLREL,)
HEFIMEAALTVSDT, BFEEFHLTERRIT—HLLBWNGELHS.
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Vaxaxd = =
E5% MHIARELZHAEE (REK) (B4 ha)
: TEbFRE | LAY AR IR I = =
“ KiEMA oo = |ERR|KER|TEHEERHL|RERS
TAHE 8 Bllpaey| PRER PRER TG maen | mat | mmAk |
T b (8,523) (8,523)]
FR2143A318 70,590 50,707 18,976 79 24 65 437 2 301
T Rt (8,523) (8,523)
FR2243A318 71,041 50,930 19,205 79 24 63 437 2 301
T Rt (8,523) (8,523)
FR23%3A318 71,381 51,197 19,258 79 21 63 460 2 301
T Rt (8,523) (8,523)
FR24%3A31H 72,928 52,650 19,352 79 21 63 460 2 301
T Rt (8,523) (8,523)
ER25E3A31H 7(5 QZQ) 54.526 19.585 79 21 62 494 2 ( %
= - 6,509 | 6,500
RERERHEHH 46712 33,808 12,812 45 — 5 36 2 4
(73) (73)
AT 16,345 13,413 2,895 12 — 5 20 — —
(6,436) (6,436)
| B ﬁﬂ.ﬁal_mﬁﬁi_&.ﬂ_&:i — — 16 2 (44_7
= - —anr. | 7
RRBEBRKEHH 2,627 1,536 802 4 — 5 280 — —
an an
FH=T 655 — 443 2 — 4 206 — —
(16) (16)
B 28 — — — — — 28 — —
L= JIHT - - - - - - - - -
(14) (14)
5 FHT 94 91 3 — — — — — —
I AHT 1,804 1,445 310 2 — 1 46 — —
GiB=1 45 — 45 — — — — — —
ST 1 — 1 — — — — — —
= - (1,046) (1,046)
RILRERHEHH 13,077 10,239 2,623 21 21 16 95 — 62
an an
XHEFEH 3,117 2,877 227 6 — 2 5 — —
(948) (948)
BB R 4,410 3,503 876 — 20 11 — — —
(19) (19)
A S 1T 389 — 358 3 — 3 19 — 6
(5) (5)
AR ZE HT 2,368 2,040 323 1 1 — — — 3
(63) (63)
AR Fa] 1| BT 2793 1819 839 11 — — 71 — %
(& s =re i mamar| | 99 | 99
RERERHEHH 7,809 5557 1,929 — — 34 56 — 233
(59) (59)
kKl 888 613 257 — — — 18 — —
(25) (25)
AT 185 — 141 — — 17 10 — 17
(12) (12)
Sl 6,700 4,944 1,519 — — 15 8 — 214
3) (3)
MU 3 — — — — — 3 — —
THH — — — — — — — — —
FAHE 19 — — — — 2 17 — —
FFARHT 2 — — — — — — — 2
y=mnnill (_12 — 12 — — — — — —
- 822) (822)]
KRHENEESHR 4,845 3,386 1,419 9 — 2 27 — 2
(677) (677)
KR 2,211 1,939 264 6 — — — — 2
(9) (9
Kh 46 — 34 3 — — 9 — —
(129) (129)
G ET 2,570 1,447 1,121 — — 2 — — —
@) @)
=R R BT 18 — 0 — — — 18 — —
X)) IEHRERLTH T, REBEIEIAH. REARLTHRILNETH D,
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